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Th U1y IR 91 Sas & TEul qrey ] 1. The potential or inherent capacity of a
ffeq a7 Saedt plant cell or tissue to develop into an

T o g entire plant is called

(1) Sawgads  (2) A=

(3) &L (4) ZrfHEH

(1) Tissue culture (2) Totipotency
(3) Totipreset (4) Transcription

I8 ITERAT T ® Gordr el 8 Rme | 20 The condition where flowers do not

FAEET TRV BT &, FHaerTd! 8 open is known as which
’ | Its in self-pollination,
ol B o e oy
e amy asmogamy
3) SERAEH TR
® o (3) Dichogamy  (4) Herkogamy

Ty § 9yl &1 /A aren (fam 3. Soil solarization for control of

31T Hiefa) T H U F frw e damping off seedlings is carried out in

A ¢ N the month of in Rajasthan.
I & T A o S 27 (1) February-March

(1) SE-T9 (2) wE-5@ (2) May-June

3) W_m (4) T:I,Fﬂ'&‘— 3T (3) November-December

(4) July-August

fadasm s S afa s g | 4. Which of the following statement is

T 7 ‘ not true for moss peat ?

(1) I8 3 [sh oS w1 15 TN (1) It absorbs 15 times more water
1T it ArE g R | than its dry weight

(2) saﬁquﬁrumwa‘cﬂél (2) Itis low in nitrogen content

(3) sweh! s arfers (frgw. 3.2- (3) Itis high in acidity (pH 3.2-4.5)
4.5) Bt |

(4) T8 TR T Y TERE AR | (4) Itis partially decomposed

5. By which method mass multiplication
: of plants can be done ?

fra fafr @ sgara = # 99 ¥R
R wasad ?

(1) Sasgads  (2) umwfen

(3) HiTHRA ORL

(1) Tissue culture (2) Grafting
(3) Budding (4) Cutting

!
I
|
|
|
|
l
|
|
I
|

Tfer aTed yaea qehieh 1 JEnT fopd 6.  “Stooling” method of propagation is
A 981 H H & ? generally used in which fruit crop ?
(1) m™ (2) | (1) Mango (2) Ber
(3) 3mES (4) T" (3) Guava (4) Apple
2 | 19
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T § frg e A e Sared
RN E ?
(1) SEg

(3) TR

(2) et
(4) e

T 7 foret e €1 1w 3
(1) wEHRy 6t HHft

(2) Ay 6

(3) hfcwrm 6wl

(4) TogHifem < sgdien gvE

o9 YUUT Hedl, T IS fhd HAGR
et % T A TE 7

(1) ™ (2) ITE

(3) ¥4 (4) el

I URG # 9 afST S | 98 § FET
U AT & 7

(1) wE-5 (2) eire- R

(3) FHRF-TT (4) THAU-HE

| 7.

o —— ——) W ———" Ty ———— i AT, S g e i At S

10.

11.

In case of microbudding the age of the
stock plant is generally about

(1) Two months

(2) One month

(3) Less than 15 days
(4) More than 6 months

Mist chamber is used for
(1) Protection (2) Seed production

(3) Propagation (4) Insect control

Potential district for banana cultivation

in Rajasthan
(1) Jaipur (2) Banswara

(3) Sriganganagar (4) Alwar

Bitter pit in Apple is due to
(1) Phosphorus deficiency
(2) Magnesium deficiency
(3) Calcium deficiency

(4) Aluminium toxicity

High density planting was first

established in which fruit tree ?
(1) Mango (2) Guava
(3) Apple (4) Banana

Which months are suitable for budding
in ber in North India ?

(1) May-June

(2) July-September

(3) October-November

(4). January-February
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13. T uedt & srafes = w
araraRer ® oft Sfifad @3 Y amar g 3
HEAT &

(1) ez

(2) TAIBECH

(3) HErEEE

(4) T A =E T
14. =99 @R ot frm s et 2 7
() IR (2) HgA

(3) godd (4) GeuEt
15. ‘I 7S’ Th THR T fIhR 2
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(1) 3™ (2) g afia we
(3) e (4) 9"

19. Frafafes § @ =9 o frar sfas &
TR 7
(1) et
(3) TWT-6

(2) <haT
(4) wefige

Tt s g o S T i g . AL T . Y e g S

13.

14.

15.

16.

17.

18.

19.

A plant ‘which is able to live under
extreme drought and very hot
conditions is called :

(1) Xerophytes
(2) Hallophytes
(3) Mesophytes
(4) None of these

Which of the following is the early
varieties of Date-Palm ?

(1) Shamran (2) Medjool
(3) Halawy (4) Khadarawy

‘Soft Nose’ is a disorder of :
(1) Datepalm (2) Citrus
(3) Mango (4) Apple

Chakardhar is variety of
(1) Acid lime
(3) Lemon

(2) Sweet lime

(4) Sweet orange

Richest source of Vitamin C among
the following fruits is

(1) Aonla (2) Barbados Cherry
(3) Kiwi fruit (4) Citrus

‘Die back’ is a serious problem in
(1) Mango (2) Citrus
(3) Banana (4) Apple

Among the listed varieties, which one
of the following is not the variety of
Aonla ?

(1) Kaithali
(3) NA-6

(2) Chakaiya
(4) Hathijhool
19
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22,
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24,

25,

2
A

‘Pusa Majesty’ is a variety of
(1) Mango
(3) Papaya

(2) Pomegranate
(4) Karonda

Gonda or Lasoda (Cordia myxa L.)
belongs to family ?

(1) Phyllanthaceae (2) Rhamnaceae
(3) Boraginaceae (4) Myrtaceae

The causal agent of citrus canker is

(1) Xanthomonas citri

(2) Xanthomonas pruni

(3) Xanthomonas malveecetum

(4) Xanthomonas punicae

Dwarf Root stock for Guava is
(2) Rangpur lime
(4) Karna Khatta

(1) Pusa sarjan
(3) Khairni

Among the listed varieties, which one
of the following is not the variety of
Ber ?

(1) Gola
(3) Illaichi

(2) Goma Kirthi
(4) Jodhpuri Red

Centre of excellence for date palm in
Rajasthan is located at :

(1) Dhindhol
(3) Khemri

(2) Dewarawas
(4) Sagra Bhojka

Goma Ashwariya is a variety of
(1) Ber (2) Karonda

(3) Lasoda (4) Aonla
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27.

28.

29.

30.

31.

32.

37! famra fopmeh wer fore 2 2

(1) THTX (2) §=

3) f 4) fodh

TR ! HH & U GEH UES HaEl
fega € ¢

(1) 7 ufei w

(2) Ut afEl W

(3) TEgH gieE W

(4) T A B3 7

Reriidt 7 fegaee fopmeht st & wRw
qATR 7

(1) & (2) hicyrem

(3) mifereeTm (4) IRA

119 8139 & fore wff # 3ves 2 w1 ged
yaferd AT R R ?

(1) arsdfietor sfractes et

(2) G — el sfideren sorett
(3) g — arsdieRr sae
(4) uET — ¥g i e

Rif=m amse’ H FeH H
yfsraT g 7

(1) TSt wed foig

2) Raerdt g werem

(3) wicTRIa & wed fog

4) s

AT AT T H Hed IREGH 1 ®
Q% % &9 4, fafPasa $
fowm d ferm ST 2 |

(1) #= % (Facie)

(2) Sttaro foaee

(3) ITETEH

(4) T 4 HIS T

28.

29,

30.

31.

32.

Arka Vikas’ in a variety of
(1) Tomato (2) Brinjal
(3) Chilli (4) Okra

Deficiency symptoms of sulphur first
appears on :

(1) Young leaves
(2) Older leaves
(3) Middle leaves
(4) None of these

Whiptail in Cauliflower is caused due
to deficiency of

(1) Zinc (2) Calcium
(3) Molybdenum (4) Boron

The most common summer cooling
system in green houses is :

(1) Package evaporation coolers

(2) Fan-tube cooling system

(3) Fog evaporation cooling

(4) Fan and pad evaporative cooling

Pinching out is the removal of :
(1) Growing points of root
(2) Opening flower buds

(3) Growing points of buds
(4) Seeds

Solanum toroum as a root stock for
tomato and egg plant is used to control

(1) Nematodes

(2) Bacterial wilt
(3) Damping off
(4) None of these

19
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34.
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39.
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(1) STl (2) qE

(3) fewer (4) FHS

sATEd g A (AT forTer) e
& TR R frareres R fe A |
fraaahFN AT ?

(1) hfcrm (2) ffiem

(3) HS (4) @

qfPgET wE whefl (1979) & ITER
wiewt i @t & fhad TR E ?

(1) =’ (2) 9=

(3) @ (4)

g A Q B o TR s TR AE 7
(1) T HEH (2) @ AT
(3) TETIANERE  (4) TET R

311e] H veeht firdh =rers e I STl 8 2
(1) UITE % TH TR 91G

(2) T & QTR 90G

(3) UUTE & 3-4 TR 1¢

(4) UIEF 6-8 TH 915

i 1 geararer e Rt B B ?
(1) 3sefia (2) Ufsafies s
(3) IME.TT, 4) =

= § 9 ®M 9 9EH IWRYN,
gfafsrar # IeeH, A= gaEE ot

ear 3R AR w didfEm %1
27
(1) A HITE  (2) THiHATEE

(3) THSI IS (4) T

~l

34.

33

36.

37

38.

39,

“Sugar Baby” is a cultivar of
(1) Muskmelon (2) Watermelon
(3) Round melon (4) Snap melon

Blossom-end rot is a  severe
physiological disorder in tomato due
to deficiency of

(1) Calcium
(3) Manganese

(2) Magnesium
(4) Iron

According to Thomson and Kali

(1979) vegetable gardens are of
(1) four types (2) five types
(3) seventypes  (4) nine types

Which of the following is not a carrot
variety ?

(1) Pusa Kesar (2) Pusa Meghali
(3) Pusa Yamdagni(4) Pusa Chetki

First earthening up in potato is done
(1) one week after planting

(2) two weeks after planting

(3) 3-4 weeks after planting

(4) 6-8 weeks after planting

Seed dormancy is induced by :
(1) Ethylene (2) Abscisic acid
(3) LAA. (4) Starch

Which of the following media is
micaceous, neutral in reaction, good

‘cation exchange capacity and source of

magnesium and potassium ?
(1) Peat (2) Vermiculite
(3) Saw dust (4) Perlite
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40.

41.

42,

43.

(1) et (2)

(3) ekl (4) THA

T W QOO foRE HROT BT R 2

(1) T=EA (2) T ITETTar
(3) feferft (4) wHfeEft

1 B18 § Tl IeTeH %1 7T S2Yd
(1) 3T BHA &7 |

(2) A Tmeh B S Bt
el

(3) ®E! i het & |
(4) wEe 61 37k aut § & |

4 g § gl (BEe) w1 g

(fore) oot ek wdt sraTe sranat
-1 (BEeT) g=-11 (fpar)
A. gamft 1. @he
B. Tt 2. TiesT T
C. @ 3. WU &5
D. weft 4, ot
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1 4 2 3 1
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40.

41.

42.

43.

““Pusa Meghdoot” is a hybrid variety

of
(1) Watermelon
(3) Bottle gourd

(2) Cucumber
(4) Tomato

In brinjal cross pollination occurs due
to:

(1) Heterostyle

(2) Self-incompatibility

(3) Dioecy

(4) Monoecy

The primary objective of green house
vegetable cultivation is

(1)
(2)

Production of early crops

Producing off season crops for
higher returns

3)
Q)]

Protecting crops from pests

Protecting crops from excessive
rains

Match List-I (Crop) with List-II
(Variety) and select the correct answer :

List-I (Crop) List-II (Variety)

A. Cauliflower 1. White Vianna
B. Cabbage 2. Golden Acre
C. Knolkhol 3.I Japanese White
D. Radish 4. Dania

A B C D
(1) 4 2 3 1
2 4 2 1 3
3) 2 4 3 1
4 2 4 1 3
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Tifafem st |
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27
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I
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9

| 44.

The covering material used in green
house is —

(1) Ultraviolet stabilised polythene of
200 micron

(2) Ultraviolet stabilised polythene of
400 micron

(3) Ultraviolet stabilised polythene of
600 micron

(4) Ultraviolet stabilised polythene of
800 micron

Training plants into three dimensional
ornamental forms such as animals is
called as

(1) Topiary (2) Espalier
(3) Heading Back (4) Bonsai

Which among the following is a
variety of Bauganvelea ?

(1) Chandrama  (2) Golden ball
(3) Bestofall (4) Thimma

Fruiting body of roses is called :
(2) Hips
(4) None of these

(1) Button
(3) Slip

Shalimar Bagh is situated at
(1) Himachal Pradesh

(2) Jammu and Kashmir
(3) Assam

(4) Rajasthan
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53.
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o
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2

Gladiolus is an indicator plant : for
pollution/toxicity in sand.

(1) Lead (2) Nitrate
(3) Mercury (4) Fluoride

Which of the following is a tree
jasmine ?

(1) Jasminum multiflorum

(2) Jasminum arborescens

(3) Jasminum humile

(4) Jasminum flexile

Indira, Shanti, Jayanti and Basanti are
the varieties of the crop

(1) Chrysanthemum

(2) Gladiolus

(3) Rose

(4) Marigold

Gladiolus bulb is called as —
(1) Corm (2) Rhizome
(3) Tuber (4) Stolan

Rose spp. possess highest essential oil

recovery is

(1) Rosa Chinensis
(2) Rosa Centifolia
(3) Rosa Indica

(4) Rosa Domascena
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Bottle Brush is a popular
(1) Flowering tree (2) Climber

(3) Indoorplant (4) Cacti

‘Pusa Basanti’ is the variety of

(1) Gladiolus

(2) Marigold

(3) Rose

(4) Chrysanthemum

The seed husk ratio in case of isabgol

by weight is —
(1) 50:50 (2) 25:75
(3) 75:25 (4) 37:63

Pragati and Praman are the varieties of

(1) Lemon grass (2) Isabgol

(3) Dil (4) Aswagand
“Cassia Fistula” produces which
colour of flowers ?

(1) Blue (2) Yellow

(3) Red (4) White

Vetiver is commercial propagated by
(1) Runners

(2) Rooted slips

(3) Wedge grafting

(4) Budding
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61.

62.

63.

‘Chetak’ isthe variety of which crop ?
(1) Lemon grass (2) Vetiver
(3) Opium (4) Isabgol

Which of

organism causes fetal poisoning in

the following micro-

canned fruits and vegetables ?

(1) Aspergillus flavus

(2) Penicillium digitatum

(3) Clostridium botulinum

(4) Rhizoctonia solani

Sorting of fruits and vegetable is based

on

(1) Weight
(2) Size
(3) Colour

(4) Maturity, disease and injury

Which of the following preservative is

used to preserve for coloured juices ?
(1) Potassium metabisulphite

(2) Sulphur dioxide

(3) Citric acid

(4) Sodium benzoate

19
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64.

65.

66.

67.

68.

19

%ol 9 afert # fafeor # fre @@
THAN AT AR ?

(1) ¥a Sam] 9 (2) TR
(3) Treetm (4) It wWaw

I T HeAl o THS AT 3T fHAh HH
YIEEHA IR I & ?

(2) FeTE

(4) IER

(1) eI
(3) TeE

TR | et o T8 1 T TR STar
2, Forad qromm g 8

(1) 121 °C ¥ 1fers

(2) Iue % farg @ arferp
(3) 150 °C & Aftrh

(4) SueM % g A+

fFeaTEse (WER) ®A 8d & -

(1) & R smaro areef i &
THI A EHI B2 |

(2) ISH ®A
(3) Wee # foue gu st
(4) Frsifera well & OTHR ThS

vgeergfenT” fessm a= & w vk 8,
S am 8

(1) faforra wd
(3) g T

2) Feea T
(4) ST

[ ———————ee Y

13

64.

65.

66.

67.

Irradiation of fruits and vegetables is
also known as

(1) Cold sterilization

(2) Pasteurization

(3) Filtration

(4) Mechanical processing

Suspended slices of fruit or its peels
are found in which product ?

(1) Jam (2) Jelly
(3) Marmalade  (4) Pickle

Pasteurization is the process of heating
fruit juices at

(1) above 121 °C
(2)
(3)
4

above boiling point
above 150 °C

below boiling point

Crystallized fruits are
(1) thin

sugar

with
coating of

Candies  coated

transparent

crystals
(2) Frozen fruits
3)

(4)

Fruits coated with honey

Cubes of dehydrated fruits

Appertizing is a process called

canning and is named after ?
(1) Williams Apert (2) Nicholas Apert
(3) Michael Apert (4) John Apert
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69.

70.

71.

72.

Yol HURUT | ATIHH BT |
(1) 5°9.72 ) 10°3. 78
(3) 15°9. U (4) 20°8. U

TTE™ § @R 1 Gehe1 I81 g o W
el @aT & | o7q: $9eh Hedl i fohd
STaeT § dredT =Ry ?

(1) wer (Fredt) (2) =i (Fam)
(3) oWl (Te) (4) Tuvg (AMR)

AT T G Iexd

(1) RS 1 AT FGH e

(2) e Fell 1 I % TEH &g
(3) B I HEAT T &g

(4) G T DT BT ITHR TEH &G

H¢ gL Tl % fQ wETgw Yot
amft 2

(1) @l i ufeat
(2) HeE

(3) werfeesh St afeat
(4) T = afeEt

|

[
+

69.

| 70.

71.

-
o

The temperature in cellar storage is

about
(1) 5°C (2) 10°C
(3) 15°C (4) 20°C

In Rajasthan, maturity of date palm
coincide with the monsoon, fruits
should be harvested at which stage ?
(1) Gandora (Kimri)

(2) Dang (Rutab)

(3) Doka (Khalal)

(4) Pind (Tamar)

The basic objective of pulsing is to
(1) Increase the size of the flowers
(2) Increase the vase life of cut flowers
(3) Increase the number of flowers

(4) Decrease the size of the flowering

plant

“Most suitable packaging material” for

cut flowers is :

(1) Wooden boxes
(2) Carates

(3) Plastic boxes

(4) Corrugated fibre board boxes

19
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74.

5.

76.

7.

19

HiS FTE ?
(1) mﬁﬁ'wwwﬁgﬁ%ﬁﬁaw

(2) It TSR 6T HATS Ieh Ifhived
™

(3) T 1 TETS I it W
(4) hTett TR 1 fenfoaa @

AV N K HAET BT R |
(i) 66° 316 ¥ SATET
(2) 55° sfieh & ST
(3) 45° sftsh & sumen
(4) 40° sfies o ST

Seft Rt 31 3 o B

(1) = 3 (2) = A
(3) 3= ufaed (4) = A
e vt i & et aRue g & 7
(1) T (2) ww

(3) head “) =

v T H 9 foraeh o B 7
(1) fg= (2) IASETEA
(3) S (4) Bear

15

73.

74.

75.

76.

77.

‘Kanji is

(1) Fermented spiced beverage juice
from black carrot

(2) Non-fermented spiced beverage
juice from black carrot

(3) Fermented spiced beverage juice
“from apple

(4) Fermented juice from black carrot

The sugar concentration in fruit syrup

is more than
(1) 66°Brix
(2) 55°Brix
(3) 45°Brix
(4) 40°Brix

Syneresis in Jelly is due to
(1) Low acid (2) High sugar

(3) High pectin - (4) High acid

Solidity is maturity index in case of

(1) Muskmelon (2) Cabbage

(3) Jackfruit (4) Okra

‘Ranga’ is the variety of which of the

following ?

(1) Dill (2) Ajwain

(3) Cumin (4) Turmeric
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78.

79,

80.

81.

82.

83.

et fire w1 yemr fpaa iR San @ 7
(1) FS Fem /a1 Fem

(2) e g8 W grI

(3) RR gr

(4) dHraten

“feaR AT foheeht forer & 2

(1) Sfu (2) 9%

3) #eft (4) T
T H Y[ 3cUTE f Bl R

(1) 5-10% (2) 15-30%

(3) 40 —50% (4) 55-65%
gfa &Y vy g Toaq fiwr @ 2

(1) 1-2fFetmm  (2) 5-8 frcium
(3) 20-25 fpetmm(4) 12-15 fraom

g & ISl o YIS oc o IR 9
TS & HIerhbHa 3

() R () fetew

() sEEEH (4) oA

i Taret w1 e sEaE S wEl
Rag 7

(1) HTefishe (heT)

(2) W (HAieH)

(3) STUd (3T &)

(4) IS (TSRT)

|

TR Teis i S TR Tt gt AR TRsRnt T MBS Aok e AR P b g s L
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78.

79.

80.

81.

82.

83.

Black pepper is propagated through
(1)
2)
3)
4

Root cutting/Shoot cutting
Soft wood grafting
Inarching

‘T’ Budding

Hisar Sonali is variety of
(1) Cumin (2) Fennel
(3) Fenugreek (4) Ginger
The dry recovery in case of turmeric is
(1) 5-10% (2) 15-30%
(3) 40-50% (4) 55-65%

The per hectare optimum seed rate of

coriander
(1) 1-2kg (2) 5-8kg
(3) 20-25kg (4) 12-15kg

The major phytochemical in the

essential oil of coriander seed is ?
(1) Anethole (2) Phenols
(3) Diasgenin (4) Linalool

National Research Centre for Seed
Spices is located at

(1) Calicut (Kerala)

(2) Puttur (Karnataka)

(3) Baptla (Andhra Pradesh)
“4) AjmerkRajasthan)
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84.

85.

86.

87.

19

Teh YFIN 3TCTh hi F3TTE 7 fehart Ty
It S § 7

(1) 1200-1800 fet 15 & 20 7™
FG h IS |

(2) 1200-1800 et 50 & 60 7™
3 % ThS |

(3) 200-300 Toredt 15 & 20 UMW H< &
e |

(4) 500-800 fFelt 15 & 20 7T Hg &

THS |

Hifgpem Jeri f § | foreht It

g ?
(1) g% (2) @
(3) wfe (4)

.6 -4 Frah ws forem @ 7
(1) S (2) gf¥an
(3) 9% (4) fEa

YT TS ! I8 off a1 1 8
(1) &t A Tgh

(2) I HE TGl

(3) ¥ fH

(4) HeE HHA dgfd

!
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84.

|
| 85.

Planting material required for planting

of one hectare ginger is

(1) Rhizome bites of 15-20 g @

1200 — 1800 kg

(2) Rhizome bites of 50-60 g @
1200 — 1800 kg

(3) Rhizome bites of 15-20 g @
200 - 300 kg

(4) Rhizome bites of 15-20 g @
500 — 800 kg

Foeniculum vulgare is the scientific

name of
(1) Fennel (2) Clove

(3) Coriander (4) Cumin

GC-4 is a variety of
(1) Cumin (2) Coriander

(3) Fennel (4) Coconut

Shifting cultivation is also known as
(1) Sole crépping

(2) Mono cropping

(3) Jhum farming

(4) Multiple cropping
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88.

89.

90.

91.

TS| % ey g g # Bie U wwE | 88. Inhibition of growth of one plant by
% T ITE ITel UTGul i Jrg ¥ 3790y chemical compounds that are released
; into the soil from neighbouring plants
1 hed & g gp
is :
(1) Tfeaeaet  (2) Y
(1) Allelospoly  (2) Inhibition
3) T @A 4) ufererdef
®) ) (3) Allel mining (4) Allelopathy
e 3 oft Rt e % R ; 89. Which of the following is not a
Fifsa T8 8 7 i desirable characteristic of species
suitable for wind break ?
(1) @1 aeiter .
| (1) Drought resistant
(2) 3T T 37 et L ’ (2) Easy to establish and long lived
3) EEECCEIT (3) Fast growing
(4) TS F T 7 3 (4) Shed leaves during actual
' protection period
Afera JSERFe 1 9= T 2 90. Common name of Melia Azedarachata
. is
(1) 3§+ (2) 9p1EA
(1) Anjan (2) Bakayan
3) 4) TG
) ® (3) Neem (4) Khejari
Y{H < feshre ST T % for 91 % ; 91. The suitable land use system involving
Y-S HEA qYT/1 TYIAH H T trees combined with crops and/or
il 'ﬂ;ﬁl ) S$F:zF WHA & ?iB[/LWﬂFﬁ e animals on the same unit of land, is
wEd o I termed as :
(1) iy arfehi | (1) Agroforestry
(2) WWW ; (2) Sustainable forest management
(3) GRS STkl E (3) Social forestry
(4) ®r arfehl { (4) Farm forestry
18 19

https://exams.freshersnow.com/category/entrance-exam-question-papers/



92,

93.

94,

95.

96.

19

HY e w I8 T FEH Y A
GHAl I UGl AT FMSA o6 1Y IR
ST 8, Rree S 7a1 w1 S
AT TG FGH &, HEaTdl 8

(1) U RIfoT (2) wH aifreh !

@) FRaER  (4) IR N

a1eht A y@ i et forad
(1) EdeR e, awTg 7R forem

(2) GUGaR  frereEr,. deREm T
foem

(3) e Tor, f=s w fore
(4) 1 J9o1, TaaR AT T des

YT G919 T LTI A 2
(1) S5 Rfereha
(2) H=RE W™
(3) I TREARE

(4) wig fafewa

TR ?

(1) 16 Taamsx
(3) 54

(2) 219
(4) 229

frefeafga & @ e foe “omar <&
fareTg” Qe wer foha S @ 7

(1) o9 T0e] Td 93 Sd TReTur

(2) 3T IeTe

(3) @eihe &g

(4) TET G
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92.

93,

94.

93.

96.

A farming system in which arable
crops are grown with trees or shrubs
established mainly to hasten soil
fertility restoration and enhance soil
productivity is called

(1) Alley cropping (2) Farm forestry
(3) Agro forestry (4) Ley farming

Three major tending operations in
forestry are '

(1) Weeding, cleaning and thining
(2) Weeding, planting and thining
(3) Planting, watering and weeding

(4) Planting, weeding and harvesting

Botanical name of sevan grass is :

(1) Cenchurus ciliaris

(2) Cenchurus setigerus

(3) Cenchurus biflorus

(4) Lasurrus sindicus

“International Day of Forestry” is
celebrated every year on /s

(1) 16" September (2) 21 March
(3) 5" June (4) 22" March

‘Amrita Devi Bishnoi Award’ is given
for one of the following :

(1) Forestry & Wild life Conservation
(2) Industry production

(3) Sports

(4) Literacy

https://exams.freshersnow.com/category/entrance-exam-question-papers/



97.

98.

99.

100.

101.

102.

(MuaamdAdR) - oo
BiTgeheeR SAIGNM U ¢fHT FeX, Taqt &
T T3 31 o ehiTeh! TEarT A §E 7
(1) iewte (2) TSR

3) s (4) Fegfern

fm 4 @ f5e wa A w8 W@
HEIEEGE T AT & ?

(1) 3™ (2) s

(3) Fem (4) dares

fore Tl o atftreram et ga7 Tuwr fopn
T ThaT & ?

(1) =R ggf
(2) PryemeR wgfd

(3) WIHITHR ugfa
(4) FEAHR ygh

T (w)ﬁﬁgmuaﬁq%gaqgﬁw% :

) o Feme

(4) wiE g™

(1) @
(3) Welse

EEUHIEY T I a9 |
R ST ® |

() &\
(3) gan I Tfa

(2)
(4) 4R fafeor

®H T ey iy s Y e,

JY F=A 3R T fydie & fore fmer
?7
(1) iR ORCISE]

(3) wHifys 3T (4) HIZSHIEEAA

97

98.

!

100.

. Hygrometer is

International Horticulture Innovation
and Training Centre (IHITC), Jaipur
was set up with technical support from :

(1) Netherland
(3) England

(2) Israel
(4) Australia

Which is the richest source of
carbohydrates ?

(1) Mango (2) Bael

(3) Banana (4) Custard apple

The maximum number of plants can
be planted in which system ?

(1) Square system
(2) Triangular system
(3) Hexagonal system

(4) Rectangular system

Suitable propagating media for air
layering is

(1) Sand

(2) Vermiculite

(3) Perlite

(4) Sphagnum moss

used to measure

7
(1) Pressure
(3) Wind speed

(2) Humidity
(4) Solar radiation

. The plant growth regulator responsible

for apical dominance, epinasty, xylem
differentiation

(1) Auxin
(3) Absicic acid

(2) Ethylene
(4) Cytokinine

19
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103. ﬁﬂﬁﬁﬁﬁl{gﬂtﬁﬂﬁﬁﬁqﬁ‘% 2 ] 103. Which one of the following is not a

(1) wifereeTm 2) A micronutrients ?
O RELGES 4) R | (1) Molybdenum (2) Magnesium
| (3) Boron (4) Zinc
104. |grs & HA @ iy § g w1 Qe 104. In which training system the trees are
FAAR 3 TRERT F g w1 em structurally weak and their limbs are
ST @aTg ? more likely to break ?
(1) q& o 37eT fafy (1) Central leader
(2) g g fafy - | (2) Open centre
(3) wuT=Iia e fafy (3) Modified leader-
(4) H&F T IR T & I I3 (4) Both central leader and modified
a1 fafy leader

105. fed @ s g o & & 7
(1) TH.3R.H.00.1g. — 3N
(2) 3TE.3778. TR, — FTEAR
(3) #H.ams.d.w. — iR
(4) .3E. T, — fiHER

105. Which one of the following is not
correctly matched ?

(1) N.R.C.S.S. - Ajmer
(2) LLH.R.-Bengaluru
(3) C.I.T.H. - Srinagar
(4) C.ILA.H. - Bikaner

106. j;d-{u,% e AR 106. Pruning is an essential operation in
(1) 3™ (2) | (1) Mango (2) Ber
(3) AT 4) Tfiar (3) Aonla (4) Papaya

107. F=fefaa § 9 19 91 @ =TS
TSN B ?
(1) W (2) TR
(3) INFHRRMNGT (4) TATRAR

107. Which among the following is a Non

07
selective herbicide ?
(1) Paraquat (2) Fluchloralin
(3) Oxyflurofin  (4) Alachlor
08

|
|
|
|
|
|
|
|
|
|
|

108. el & daaﬁr &y 9 o 9 aieR 108. Quincunx system of  planting
fafyy Y SRl T o it accomodates times more
Qiert R TR T | plants than square system.
(1) L.5 (2) 4.0 (1) L5 (2) 4.0
3) 2.5 4) 3.0 (3) 25 4) 3.0

19 21 : [m]
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109.

110.

111.

112,

113.

114,

= d @ wm @ faafm B, 1 o=
TH R ?

(1) R

(2) UENSIFTe wikhe

(3) TTEAREANA

(4) TSEIFRAT

= 4 9 39 @ a9 wERfsa
TAeATsH 3T ShIHIST &1 g2 & ?
(1) wefirm ) Ffmm
(3) wfifEm (4) HIR

e o @ % a1 fiq wife wet & qofaen
T T R 7

(1) @R ) M

() I (4) FEFA

T U YU YSMH T B Gl aleh
SaaTies frea o e & ufa 4o
TTerehd] TAATRG HH & ITAN A
AR ST R 7

(1) o fafy (2) = shfEn
(3) avmaeht fafr  (4) S swim fafy
= 1 & *F @1 wew 3fg Fremes s

%1 ! & G AT BT B 7
(1) weHifem st (2) TRy
(3) wESHERA (4) Trsaifew

5 i o gman e faf @ sh
St g ?

(1) KOH wiT=e ™ g’

(2) NaOH = grI

(3) M3 = g

(4) eeiforas wife g

‘ 110.

22

1009.

111.

112.

113.

114,

Which among the following is another
name for Vitamin B, ?

(1) Niacin

(2) Pyridoxal Phosphate
(3) Cyanocobalamin
(4) Riboflavin

Which of the following element is a
constituent of chlorophyll, protoplasm
and chromosome ?

(2) Calcium
(4) Copper

(1) Potassium
(3) Magnesium

Which of following is complete stem
parasite of citrus ?

(1) Lorenthus
(3) - Orabenche

(2) Striga
(4) Cuscuta °

Which of the following methods of
breeding is used for transfer of disease
resistance into a commercial variety ?

(1) Bulk method

(2) Mutation breeding
(3) Pedigree method
(4) Back cross method

Which of the plant growth regulator
help plants during water stress ?

(1) Abscisicacid (2) Ethylene
(3) Cytokinin (4) Gibberllines

The viability of a seed is determined
by

(1) KOH blanched test

(2) NaOH test

(3) Growout test

(4) Teterazolium test

19

https://exams.freshersnow.com/category/entrance-exam-question-papers/



115. A a s mgm ad adi ? 7 | 115. Which one of the following pairs is

N IepEa ¥ % i not correctly matched :
1) T et Tt Location Centre of Excellence for
@) T — (1) Kota Mandarin Oranges
3) S s (2) Bassi Pomegranates

(3) Tonk Papaya
() 3 R (4) Dholpur Mango

116. 9 Sfru g 116. Dormancy is a function of interaction
GHTEET, q ’
AEOYE I ¥ = IR of growth promoter like GA and

ST HIEED | growth inhibitor like :

(1) T (2) S (1) ABA (2) Cycocell

(3) IR (4) TSNS (3) Alar (4) Paclobutrazole
117. ot § 9 I Bl &1 Y deheilehl 117. Removal of male bud in banana is

eI E technically called as :

(1) feform (2) FH-IiHheH (1) Tipping (2) Dis-budding

3) WS 4) Teafem (3) Threshing  (4) Denovelling
118. o7 &) SHEETes aue faftr =9 ‘ 118. Which one of the commercial method

27 of propagation in bael ?

(1) &= ‘ (1) Seed

(2) F=atén (2) Patch budding

(3) T& THS! Y Hord ST (3) Hard wood grafting

(4) = ' (4) Inarching

119, gfid w1 sgreETes yaue frow R
SR ?
(1) e g () =t
(3) s g (4) i g

1 Papaya is commercially propagated by
(1) Cutting (2) Layering

(3) Seed (4) Budding

19.
120. 37 g amfen FE P B ? 120. In Situ grafting is practiced in
(1) SRIATSIE (2) e |rge

(3) TR TE (4) S0 9

(1) Laboratory (2) Planting site
(3) Test tube (4) Aerial parts

|
i
I
|
|
l
|
|
|
|
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TEHT & 7T ™ / SPAGEFORROUGH WORK
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